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-k INRREE Y m3 6.0
Y- rEET
TER
9 -bEIFL =50 L 5.0
9 -bEIFL L=100 L 152.0
L SD345, D13 t 0.152
= SD345, D13 t 0.078
iy INBYREE Y m2 77.0
18-8-25, W/C=60%
avyy-p INRIRESE Y m3 6.0




S = /)\
(LAY 5k M= B E
(LRIL2) (LRIL3) ) (LALB)
TiE &5l 3 % B e Bz
WE -b7Ya-L DR, 1800 x 900, t=3. 2mm m 3.0
S TEY:
TRER
BIEEHE @5x100x 100 m2 31.0
By INEU Y m2 2.0
18-8-25, W/C=60%
Y-} INEVRE Y m3 3.0




KiERLTERER + T & 5 %
7 . #H R o
g A T+ B f S S S S m * T /& | & A | tHE f REtH= N o] g &
LIRS KR T
T® [ o9 10.0 9.0 23.0 210 9-20951=-11.951 (C) FAEL
10-23=-13 (N) RYEGE T T8 | 09 -10.0 -13.0 -12.0
b= 1.15 0.0 0.0 0.0 0.0 0-0=0(C) = 1.15 0.0 0.0 0.0
0-0=0(N)
- T -13.0 -12.0
: = 0.0 0.0
AL
T 0.9 10.0 13.0 12.0
& 13.0 12.0
9 - 20.951 = -11.951 (C)
T/ 0.9 10.0 9.0 23.0 21.0
- 10-23=-13 (N) T® 0.0 0.0 0.0
3 N 0-0=0(C) BAL | 2 0.0 0.0 0.0
= 1.15 0.0 0.0 0.0 0.0 =
0-0=0(N) &t 0.0 0.0 0.0




REL

1.137 + 1.568 + 10.988 + 6.61 =

e H E £ H % NO. 1
2 MR it # A B 41 w2
fEELT
= 1.0
R
TR 1.08 + 8.505 = m3 9.585
HBE
T m3 0.648
HER
m3 20.303




LHEFIBHD =2 ) — M KBFHAE

wrm Kk = E K

ANF—+T)a—LDR
1800 x 900 H=1000

vy —hE
/=3780, H=1000, W=200
/ vy —hE
/ L=4230, H=1000, W=200
3780 / 4230

/ 100‘ ‘100 ‘
H H

) ]
| | \ :
3300 A ‘ . 1 fD16@400
H4#D16@400 L=4030
L=3640 . ‘ g
’ Z#7D16@500

[ L=1100
##7D16500 HEAL=000
L=1100 \
HE5AL=200 \
|

DO (3.78+3.3) /2

=3.54

L 0BRSS NEfaZ&
a7 J—F (6 ck=18N/mm* IINRIRETEY))
D V=1. 00%0. 20%3. 54 = 0. 708 m3
@) V=1. 00%0. 20%4. 23 = 0. 846 m3
TP (VNEIAEEW))
D A=((3.78+3. 30) *1/2%2) + (0. 2%1) = 7. 280 m2
@ A= (4. 23%1. 0%2) + (0. 2%1%2) = 8. 860 m2
Z=%D16 (SD345)
(D V=1. 10%7. 0%1. 56 = 12.012 kg
@ V=1. 10%9. 0%1. 56 = 15. 444 kg
D16 (SD345)
D V=3. 64%3. 0%1. 56 = 17.035 kg
@ V=4. 03%3. 0%1. 56 = 18. 860 kg

)L — K b a—ADE ¢ =1800, d =900

= 1. 00 m




LRFLHD HR=>2V— FE HEBFEE

Brm X & O 2 £ H

% 200 HED16@400
2 /L:3850, F=1400, W=200 i
b avo)—kE _
3 / /L=4230, H=1000, W=200
3 e / £ £7D168500
3 N / [=1400
) £ #D166500 / HiEAD16@400 / /
R L=1400 -
/ / g
S EMDI66500 =
= [=1100
= B $85AL=200
\\\
N i i b =] H78
- o~
AL v —RR—R o 1
KE2L=200 [=3300, W=600, H=200 o] U
EERA=T ST HEAL=100 :
HA=1.0m !
A t =100 600

Dy (3.85+3.3) /2
=3.58

L OB AR 7= b s 2

a7 — (6 ck=18N/mm” /]NRUAEE))

~N— 2 V=0. 20%0. 60%3. 30 = 0. 396 m3
ST RV V=0, 20%0. 4%3. 30 = 0.264 m3
NE B V=0.20%1. 0%3. 58 = 0.716 m3
il e UNRIREEY))
N— 2 A=0. 2%3. 3%2. 0 = 1. 320 m2
NE RV A=0. 4%3. 3%2. 0 = 2. 640 m2
S BV A=((3.85+3.3)%1/2)%2. 0 = 7. 150 m2
Pty Fopitt (AR t=0.10) RC-40
A=0. 60%3. 30 = 1. 980 m2

Z=%D16 (SD345)

V=1. 4%7. 0%1. 56 = 15. 288 kg
FEfD16 (SD345)

V=3. 58%4. 0%1. 56 = 22. 339 kg
KA (N—R) A=1.8m2

V=0. 6%1. 8 = 1. 080 m3
HRL (R—2)

V=1. 08~ (1. 8- ((0. 3%3. 3) -1. 8) *0. 2) — (0. 1*0. 6%3. 3) = 0. 648 m3

—(0. 2%0. 6%3. 3)




LRHEIRD =2V — FEk HEBFHEZE
KRR R E R

Ema Yoz y—r®D . e
L=6400. H=100, =150 2oy —+2Q

L=4500, H=300, W=150

W NA=2. Tm2 HAHD13@400

324 1) — RERRR t =100 AT

JANY—Awi, 2 ¢pbx100x100

Z=#D132500
L=300
H5AL=100

At =100mm

322 ')— bR t =100

TN —A v p5x100%100\ ?ﬁ%ﬁﬂiﬁﬁ%_“®
aAvyY— B \ s /o

L=4500, H=300, W=150 \\ Vr"%f_ /

4060

SEE (4. 040+4. 060) /2

=4. 05
(5. 66+6.04) /2
=5.85
LOEg S -l
=N AESEN (6 ck=18N/mmn:  /NEAEEY))
KR V=(5. 66+6. 04) *4. 05/2%0. 1 = 2. 369 m3
DV=6. 40%0. 15%0. 1 = 0. 096 m3
@)V=4. 50%0. 15%0. 3 = 0.203 m3
Tl e UINRUREEY))
KRR A=5. 66%0. 1 = 0. 566 m2
(DA=(6. 40%0. 1x2) + (0. 15%0. 1) = 1. 295 m2
@A= (4. 50%0. 3%2) + (0. 15%0. 3%2) = 2. 790 m2
FeAy Bk (FAEMA t=0. 10) RC-40
A= (5. 66+6. 04) *4. 05/2 = 23. 693 m2
TJA¥—Av =2 ¢5X100X100
A=(5. 66+6. 04) *4. 05/2 = 23.693 m2
Z=D13 (SD345)
V=0. 3%9. 0%0. 995 = 2.687 kg
FEAHD13 (SD345)
V=4. 3%1*0. 995 = 4.279 kg

IR A=2.1m?2

V=2. 1*4. 05 = 8. 505 m3




LD =2 V— Pk HEFHEE

grmm KRS FH

L=12630
225 1) — REERE t =100 1.120

JAX—H v d5x100x 100 \
|

"'<agi
|

A=0.09m?2

1. OBIFr47c U 7 52 &

27 J—F (6 ck=18N/mm’ IINRIRETEY))
RER  V=12.63%1. 12%0. 1 = 1.414
e UNRIRETEY))

PRI A=12.63%0. 1 = 1. 263

BE+ A=0.09m2

V=12. 63*0. 09 = 1.137

m3

m?2

m3




LD =2 V— PRk HEFFEE

wrm Kk = E K

L=11200
32— KRR t =100

TAXY—2via@bx100x100
. 1. 540

I N

REL
A=0.14m2

1. OBIFr47c U 7 52 &

a7 U—Fh (6 ck=18N/mm’
RRR V=11. 20%1. 54%0. 1
e (VNRIREEY))

PRI A=11.20%0. 1

/NI IE )

A ¥ —Ava  $5X100X100

A=11. 20%1. 54
BE+ A=0.14m2

V=11. 20%0. 14

1. 725

1. 120

17. 248

1. 568

m3

m?2

m2

m3




F IS D

2> — hEE KEFEE

wrm Kk = E K

Ay )—rE @

IOV —FEQ
L=1730, H=350, W=150

1#ARD13
L=1530

ZfrD13@400
L=450

185AL=50
L=11100, H=500, W=150
OV —FEQ
| | L=10900, H=500, W=150
R — 1§
: 1 ! !r ! | ...... E.i .......
_HREADIS b ONON\E#D13
‘ L=10700
£ D138500
L=500 ) . L.=500
1#AL=100 ‘ J— 185AL=100
L 0BRSS NEfaZ&

a7 Y—F (6 ck=18N/mm* INRIFEEYD)
D V=0. 50%0. 15%11. 1 = 0.833 m3
(@) V=0. 35%0. 15%1. 73 0.091 m3
(3 V=0. 50%0. 15%10. 9 = 0. 818 m3
Tl e INRIRETEY)
D A=(0. 5*11. 1%2)+(0. 15%0. 5) = 11. 175 m2
©@ A= (0. 35%1. 73%2) + (0. 15%0. 35%2) = 1.316 m2
@3 A=(0. 5%10. 9%2) + (0. 15%0. 5) = 10. 975 m2
Z=D13 (SD345)
D V=0. 50%22. 0%0. 995 = 10. 945 kg
(@) V=0. 45%5%0. 995 2.239 kg
@) V=0. 50%22. 0%0. 995 = 10. 945 kg
FEAHD13 (SD345)
D V=10. 9%2. 0%0. 995 = 21.691 kg
(@) V=1. 53%2. 0%0. 995 = 3. 044 kg
@) V=10. 7*2. 0%0. 995 = 21.293 kg




TH o2 )— & HEFAE

wrm Kk = E K

avyy—reE @
L=27000, H=500, W=150

L=26800

Z#7D138500
L=500 B
H5AL=100 D

avsy—re @
[=26600. H=500, =150

\
L 0BRSS NEfaZ&
27 J—F (6 ck=18N/mm’ IINRIRETEY))

D V=0. 50%0. 15%27. 0
@ V=0. 50%0. 15%26. 6

P NS ED)

D A=(0. 5%27. 0%2) + (0. 15%0. 5%2)
@) A=(0. 5%26. 6%2) + (0. 15%0. 5%2)

Z=D13 (SD345)

D V=0. 50%54. 0%0. 995
@ V=0. 50%54. 0%0. 995

D13 (SD345)
(D V=26. 8%2. 0%0. 995

@) V=26. 4%2. 0%0. 995

)L — K b a—ADE ¢ =1800, d =900

2.025
1. 995

27.150
26. 750

26. 865
26. 865

53. 332
52. 536

3.000

m3
m3

m2
m2

kg
kg

kg
kg




THHEIHD =2V — FERIK HEFHEZE

grmm KRS FH

L=8200
a9 ) — FERhR t =100

A4 —A v a¢pbx100x100
‘ 2000

\\\\\\\dﬁﬁﬂiﬁ

1. OBIFr47c U 7 52 &

a7 Y—F (6 ck=18N/mm* IINRIRETEY))
FRAR  V=8. 20%2. 00%0. 1
e (VNRIREEY))

PRI A=8. 20%0. 1

A ¥ —Ava  $5X100X100
A=8. 20%2. 00
BE+ A=1.34m2

V=8. 20%*1. 34

= 1. 640

= 0.820

= 16. 400

= 10. 988

m3

m?2

m2

m3




TR

227V — MR HEBFREF

grmm KRS FH

L=9720
322 U— kKRRt =100

TAv—Awia@hx100x100

1. OBIFr47c U 7 52 &

27 J—F (6 ck=18N/mm’ IINRIRETEY))

PRAR V=9. 72%1. 54%0. 1

e INRUREER)
PRI A=9. 72%0. 1

JA ¥ —Ava  $5X100X100
A=9. 72%1. 54

BE+ A=0.68m2

V=9. 72*0. 68

= 1. 496

= 0.972

= 14. 968

= 6.610

m3

m?2

m?2

m3




